[
L BV« B </ B« VR 7 B ZR 7 B S

=
o o< om

| O I e
- O

#include <stdio.h>
#include <stdlib.h>

int main ()
=k
fleoat x1, yl, x2, y2, distance;
printf ("Enter x1: ")
scanf ("sE", &x1):; I
printf ("Enter yl: "): )
scanf ("sE", &yl):
printf ("Enter x2: ");
scanf ("$f", &x2):
printf ("Enter y2: W):
scanf ("sEf", &v2):
distance = ((x2-x1)* (x2-x1))+((yv2-y1)* (y2-v1)):

PrintE(™\an") ;

return O;

printf ("Distance between two points: $.4f", sgrt(distance)):
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Enter x1:
Enter yl.
Enter Xx2:
Enter ya:
Distance between two points: 5,6569

O G B B

Process returned @ (@xe) execution time : 7,559 5

Press any key to continue.
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<stdioc.bh>
<scdlib.bh>

("%£", &b):
tf("\nEncer third number: "):

a+b+c;
rintf("\nPerimeter = %.1f\n", Pm);
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Enter first number: §

Enter second number: 7
Enter third number: 3
Perimeter = 15.0

Process returned © (0x0)
Press any key to continue.

execution time

: 6.447 s
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#include <stdio.h>»
finclude <stdlib.h>

int main{)

[

ekt el b bt bt

int age; fW
int cnt haby“u cnt. school 0, cnt adultnﬂ*”
1nt counts=i; il i il w!‘

while (count<i() : el |
i : z .‘1 1‘”; ‘i!‘:i“‘
printf ("Enter age [%d]: ,count+1)

scanf(f'%d",&age);

1f{age>—u && age{—ﬂ)
cnt baby++, : =i
else 1f£age>—4'&m age{mi?)
cnt school—* ‘

else _ =
cnt_adﬂlt%%;

count-=-+;

“ “ M Mf .\\ u‘“ \H"\
o ‘ \‘\‘ l.‘. ol
printf ("5till z baby: %d\n",cnt baby)\ww‘ﬂ V?J
printf ("Attending school: %d\n",cnt‘schcelh,‘ !
‘\
printf ("Adult life- aQE' zd\n",cnt adpl

.wﬁy
return Ui i i e ‘W‘”beﬁu WT”‘ﬂH”
(ARG

il ‘H‘\
Tl B i ‘
il w_ ‘M it u“h“‘
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_ _ _ _

1 #include <stdio.h>
2 #include <stdlib.h>
3
4 int main{()
5 EJ{
6 y int days, years, weeks;
T8 printf ("Enter number oﬁ days: "):
8 scanf ("%d", &days);
9 years = (days / 365); // Ignoring leap year
10 weeks = (days % 365) / 7:
11 days = days - ((years * 326%5) + (weeks * 7)) ;
12 printf ("YEARS: %d\n", years):
13 printf ("WEEKS: %d\n", weeks);
14 printf ("DAYS: %d", days):
15
16 retarn O,
| 17 }
1 18 -
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er number ot days: 1243
YEARS: 3
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DAYS: 3
Process returned @ (6x0) execution time
Press any key to continue.

3.896 s
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1nt main )

=

int random genNo=(l, count={, num;

int stime;

long ltime;

ltime = time (NULL) .

stime = (unsigned) ltime/:;

srand |stime) ;

random genNo=rand () %100;

while ()
H
count+=1; |
printf ("\n\nGuess a number from (0 to
scanf ("%d", &num) ; Sh4

= if (random genNo==num) {
printf (" you have guessed the amrrc

break;

~ }

= else if (random genNo<num) {

printf ("Generated number is less thar

B }
= else if (random genNo:num) {

printf ("Generated number 15 greater tP

= if (count==7) {
printf ("\n\n###¥ Maximum qttrmptﬂ lWﬁLhE
break; '
B }
retnrn O;
c clc++ | Windows (CR+LF) i W!ND_OWS-'IﬁﬁB‘
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a number trom
ted number is

;@ number from
ted number is

uess a number from
enerated number is

uess a number from
enerated number is

uess a number from
enerated number is

uess a number from
enerated number is

uess a number from
enerated number is

0 18@): 5
~eater than entered number,try again...

)

(6 to 1@e): 89
less than entered number,try again...

(6 to 100): 54
greater than entered number,try again...

(6 to 160): 43
greater than entered number,try again...

(6 to 180): 6
greater than entered number,try again...

(6 to 160): 9
greater than entered number,try again...

CRLECEEE
greater than entered number,try again...

### Maximum attempts reached

Process returned @ (@x0) execution time : 13,186 s
Press any key to continue.
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